Components

1. Winch Bracket Drivers Side, JL ..ccocociiiiiiiiiiinineen 1 14, M8 X 1.25mm Gold ZINC BOIT....vvvvviiiiin e 4
2. Winch Bracket Passenger Side, JL.......cocccoiiiiiiinn i, 1 185. M8 Gold NG FIGT WESHET oo sovmms coman ausnois 8
3. Winch Bracket Drivers Side, JK.ioiiin e, 1 16. M8 Gold ZINC LOCK WAShEr . u.vvvviviiiii s, 4
4. Winch Bracket Passenger Side, JK ..o, 1 17. M8 GOIA ZINC NUT ..oiiiiiiic e 4
5. LED Fog Lighl BIGEKEE: o wsemmns sveemss svamsmssmmsasmsmismies 2 18, M6 X 1.0MM GOld ZBE BOI wsswsmamsmsesmn wresn vuesm cumsnm 2
6. T-NUT PIAte, JK i 2 19. M6 Gold ZinC Flat WAsher ., 4
7. PlasHe Slib WESHET surmmmmmmnns srvmsms smemss imsms s sama i 6 20 M6 GoldZING Lock WaSher e srmeen smmen smwmevvey 2
8. MI12x1.75mm Gold ZINC BOI ..., 2 21, M6 GOIdANC NUT wamwsmsrsssssssmmomssmsn msssi s e 2
9. MI12Gold ZInc Flat Washer ... 8 22, M4GoldZinc Carriage Bolt.....coccccoiiiiini i, 8
10. M12G0old ZIRG: LOCK WOSHET s covivivin sismssvin svsmmisessrisasieis 8 23, M4 Cold Znc FlaP WAShET i mwssrsn s s 8
11. MI12G0ld ZING: NUT oo s s sovessmrseonsio 6 24, M4 Gold ZINC LOCK WASher ... 8
12, M10X 1.5mm Gold ZINC BOIT ... 2 25, MAGOIAZING NUT ... 8
13. MI10 Gold ZINC Flat WASher ..., 2

JK Winch Bracket LED Fog Light
(Drivers Side) (Passenger Side) T-Nut Plate  Bracket

JL Winch Bracket
(Drivers Side) (Passenger Side)



